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3510 2R LHT 0 168
3520 R chf 0 337
3530 2R THT 0 954
3540 Z= B KHT 0 358
3550 AETHT 1 761
3560 = T ERAT 0 267
3570 = T FaMT 0 724
3580 FLIFTHT 0 541
3590 EHT 0 11
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9999 S HKXET 1 4121
4010 41| BT 0 307
4020 {ESHT 0 87
4030 5HT 0 234
4040 S HEAHT 0 197
4050 7K /T 0 401
4060 ESZ HHAT 0 360
4070 Jt/RHET 0 163
4080 =;I;HAMT 0 215
4090 FRERHT 0 330
4100 B FEFNHET 0 140
4110 Jt FFnET 0 151
9999 &I XET 0 2585
4510 AREE—ZHT 0 701
4520 EREE — ZEHT 0 170
4530 EREE=FEHT 0 163
4540 EREEIUZEHET 0 119
4550 EREE L FHT 0 124
4560 AR EENEEHET 0 73
4570 EREE-HFHET 0 108
4580 EREE)\ZHET 0 84
4590 EREE N FEHT 0 96
4600 EREE-+ZEHET 0 106
4610 EREE+—ZFHET 0 114
4620 AR+ —ZBHET 0 197
9999 ERERXET 0 2055
5010 FAFNHE HEHT 0 188
5020 HAF0BAEMET 0 146
5030 FRFNRI{ZHT 0 178
9999 MAFIRXET 0 512
5510 b R HET 0 208
5520 = HhHET 0 580
5530 FA= HT 0 451
5540 MY 0 257
5550 EEHT 0 72
9999 =R X 5t 0 1568
6010 [f]ET/IMER 0 95
6020 [z ET 5 0 115
6030 [EET & JII 0 85
6040 EizZEFHET 0 206
6050 JI|AMBTE 0 143
6060 JI|EHATFE 0 119
9999 REERXET 0 763
6510 B &= A#HBHET 0 23
6520 HZEAKIEHET 0 180
6530 HE AFTHHET 0 117
6540 HZEAILTHT 0 153
6550 B =AM Z NHET 0 75
6560 HZEAEILHET 0 119
6570 B E ALERIHET 0 120
6580 H&EAEHT 0 7
6590 HZE AKHET 1 35
6600 B &= AHHT 0 66
6610 HEA L FGHT 0 51
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6620 HZE A FHHET 0 37
6630 HZEA T AT 0 85
6640 B & A BT 0 38
6650 B &= ASRHET 0 3
6660 H Z A RLHET 0 19
9999 HEAKKET 1 1192
7010 — &M O ET 0 156
7020 — R AHT 0 241
7030 = R IRHNET 0 87
7040 — R T KEFHET 1 184
7050 — R ¥7 H I HET 0 104
9999 — R&XEtT 1 772
8011 YRAHETFEERLY 0 55
8012 YR AHTFEERA 0 130
8013 JRAHRTFAERIL 0 73
8021 HRAHTZEKLY 0 78
8022 IR AHTIEKA 0 4
8023 R AHETEKIE 0 4
8031 IRAHTH ALY 0 145
8032 FABTHAA 0 13
8033 IRAHBTH AL 0 23
8041 IR AHTELIFZL 0 56
8042 IR AHTELIRA 0 29
8043 R AHET LRI 0 16
8044 Y ARETHLIFIZ 0 23
8045 IR ABTELIF T 0 39
8050 IR AHT A 1 137
8060 IR AHTFT# 0 118
8070 IJRABTER 0 111
8080 Ir AHT &k 0 46
8090 IR AHT HiEE 0 49
8100 RAHETHI /IX 0 10
8110 IRAHT I 5k 0 36
8120 IR AHTEE"S 0 73
8130 JRAHTH L 0 78
8140 IRABTEERT 0 121
8150 IRAHTHFK L 0 86
9999 AKX ET 1 1553
9010 FTHTAKEH 0 581
9020 FTHTEE R 0 384
9030 FTHTH &£ H 0 1167
9040 F+THTHEH 0 1317
9999 FT#XEt 0 3449
9110 SERT T HIE 0 514
9120 $EETH L 0 230
9130 $EHTH & 0 150
9140 SERT T4 1 411
9150 $RZET L 55 0 486
9160 SEETERHT 2 736
9170 $RETANH 0 857
9180 #RHTEE 1 530
9190 $ERTZ O 0 210
9200 FEHETEFIH 0 221
9210 $RAT = H 0 371
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9220 $RMT#EH 1 563
9230 ST B M 0 659
9240 SEETIE K 0 280
9250 FEETALHith 0 552
9999 R X &t 5 6770
9310 E[FZHET:AMR 0 194
9320 EFHATAL 0 245
9330 FR[ZHET/INE 0 158
9340 R [ZHTRY 0 392
9999 RFHXET 0 989
9410 RETT & 0 381
9420 RHETHHE 0 228
9430 RHETERK 0 146
9440 RETAEF 0 14
9450 RETHER 0 22
9460 RET{—_HE 0 34
9470 RETER 0 7
9480 RHETHER 0 64
9999 RIXXET 0 896
99999 H&Et 12 58978



